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Boiumucngaem no

LienoYkKe

YuebHasa 3aaa4a: Y4UTbCs 6bICTPO U
NPABUMBHO BLIYUCAATL MO LIeNOYKe. %
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-+ a) 10+5+3=18 (6.)
» OTtBeT: 18 611MHOB Ucnekna
6aba.

- 6) 6+10+2=18 (6.)

OTteeT: 18 6 711HOB Ccven gen.




2 rpynna

Ne3.

Kak meHanochb

KOSIMYeCTBO pbIb B

Beaepke?
beino | Ytawwmn | BernnecHyn | Hanosun | TToaapun
19 2 4 6 5

19-2-4+6-5=14 (p.)




3 rpynna

.5 g+1
+4+6=15 7
. 8+971=
5+4+5=14 m+ .
+
) +7=
+8+3=18 7+4 i
6+
.7“ 7+4=17
gr2=17 73
6+7+3=16
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4 rpynna
Neb.
TTocTaeb 3HAKU + U -

a) 8+2+3=13  6) 12+4-1=15

8-2-3=2 17+2-4=15
8+2-3=7 16-3+2=15
8-2+3=9 18-5+2=15
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Brioa:

OT nepecTaHOBKU
cnaraemblIx 3HayeHue
CYMMbL HEe MeHseTcA.
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